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.. CHAPTER Quiz 1 s o

For use after lessons 72 1 -_7.2.

- .Solve the Imear system by graphmgs . o -t Answers’ o
.x.+'y=<"5 - 2x+y 2 e e

[

w

£

N .
A .

< - (. '

Solve the Imear system usmg substututuon..
p= =6 — 2% '
' ‘_ ' 7x y =3

. i=y—4

[j—5¥x
‘_'4x y=4
Ly Zx=—6
L xmy=9

\

Cymxmos

7

Mgebrat o
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N‘ame

CHAPTER

sz 2

For use: after Lessans 7 3-7.4

Solve the lmear sys’tem usmg ellmmatlon.

5x+y 4

..'6x y= 7
‘.'.‘—3x+4y 2
3x+y=8
T
) x+2p=10
5x +‘3y";1
‘-.-,'5,x+y——-3 '
L Gx=y=8 |
C Tx—y=9 o
¥ ‘_.x—2y 8 -
4x+y 5.'
.'7x+y-—11
-'_4x.+2y~—

3.>.C»+-yf= 10 .

R 2y 13

. Date’—t.. -

Answers

.:1.._

Algebra 1
Chapter 7 Assessment Bookf o




~ " CHAPTER ~
For use after Lessons 75 7 6

'-Graph the’ lmear system. Then use the graph to tell whether '_ ' Answers
the linear system has one solutton, no solutlon, or mfimtely g See leﬁ
many solutions. - A - N

13y Tx= 4 S 2 “Ee+2y=-16
3y - 2= 1 oL 4x y—lO ‘

3y o Pt - g oSeeleft

T i '3[L_ o | 3 .,-‘,se,elgfp,i"'_‘.-'vA"...;

Ky

s Seleh

- Graph'ihe syeterh. of ir'i_edue'li’.ties.-l

| 7 " Seeleft.

4 x>2 T STTT 5. y<x+ 2T x5
. IS - T 1,

E y<3: Jo 0k . y=zl ]

e x20 [T .PT 7 ys—x [ P

-1 I Cox<—l T

Algebra 1. .
Chapter 7 Assessment Book ,
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CHAPTER

. Slmphfy the expressnon.

'1.

-2,

3..(6°

.-'_‘_s‘imp.l_ify the eipression. s

el

;l1m
'”1L

13

V;Name.

Qu:z 1

For use after LessonsB 1-8.2 e

erte your answer usmg exponents. -

(- 3)4( 3)2 o

Answers - -

ﬁof'
T
if -iz"“
130

. j‘. 14;.'.

“Chapter 8 Assessment Book 109
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‘For usé after Lessohs 8 3-8, 4

S ' SImphfy the expresswn. erte vour answer usmg onIyA L e ..-An_s.we,rs-.

posmve exponents. -

-1 (8x)3 84

) 2. Zx"s'y

"‘(—3“)Ti

o 'Wnte the number |n standard form.

5;-.-_.93 X 105

CelTeAXIOt T

B X '562.><‘.10—3,.. J T R g,
,’_g."4209><1o L | | '

9. __The distance from Earth to the sun is-approximately -~ . . T
93 mllhon mlles erte thls dlstance in sc1ent1ﬁc notatlon : _

- Algehrak - i R j"' . P
119 Chapter&AssessmentBook I
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. CHA§TER QU'Z 3

For usa after Lessons 8. 5—8 6 -

‘:Gr_ap‘lr_the f.unctlojr):. R S TR T 'AHSWéfS_‘ |
o S Co o “q. . Seeleft:
. 2- y: (—-—) .o | . ' 1 — . — —

ey 4

v
W

4 e Seeleft.'..

W
.
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w

W
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7. A family purchased a condo for $80, 000 Each year the value of the
. condo-increases by 5%. nte a function that models the value of |
** the house over time. Then ﬁnd the value of the house after 6 years
Round your answer to the nearest dollar o Lo

o S ,_ : Algebra1
S . : ' ChaptarBAssessment Book




- " CHAPTER QUIZ 1

For use after Lessons 9 1-9. 3

Fmd the sum, dlfference, or produet. L :.~ S Ahs:vrefrs .
. (—3x2—8x+5)+(x2 6x+2) T 1.
2 @130 - (q3+qu g e
3 —5k2(k4—3k3) :
: "-'5‘.”(4‘z+9)‘('z.;:_—_2)." P T
6.“.("p_—'7)-(P':l" 1) | ,_ L ; o | - : 5 -
7. ‘(‘s'm'%'s)z'ﬂ S it sl

' 9 A ﬁower garden 1s. 4 feet longer that its w1dth w. Wnte a polynom1al : - 8.
T that represents the area of the garden B o
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Algebra1 _ SR
124 Chapter 9 Assessment Book
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‘ CHAPTER QUIZ 2

For use. after Lessons 9. 4—9 B

10 12 + 3xp.

3 '_922 <182 .
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. Factor thé trinoiﬁialz -

5_'. w2+ 15w+ 14

2k2+5k 3 -

“.9. 8y2+26y+15
Solve the equatlon..
_‘11. (h +'6)(h 4=
';‘13 s+ 14=2".

1s. 28 —14g=—2o'

-

"'Factor out the greatest common monomlal factor. SR

2. 21ab2+35ab
4. 4p -.—_'8p i

6. m? = 12m+20

. 3. A3lj)'2';'._2-0:b-__,7 S
10 =242 —7d=5

2. 2142 7d =0

14 =5z f-loz;o--..:"'- |

16,1 —r2—5r-6=0"

Answers

0.
g ) '1'2.,
s,
-~ 1a.
15;

T8

) - Algebra1
Chapter 9 Assessment Book -
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" CHAPTER QUIZ 3 ' / |

Far use after Lessons 9. 7—9 8

) Factor the polynomlal. L
1. 281 S
-'; 3. 100m* — —aon2 3 ,*,j:*'_'4(
_56M mw1;§rjfﬁﬂ

Factor the polynomlal completely.

_Solve the equatlon - I
13.. d?+10d+25=0 T 14,
w P %;Ofi:T'f1d

17.. A box of crackers has a volume of 96 cubic mches The box has .
" a height of x inches, a width of (x — 6) inches, and a length of

2121
2 14k +49.

4a® + 4B

324302+ 75

2RIty t 2y

20-52=0
6ﬁ—3&b+ﬁu=04~

S x - 2) inches. Fmd thé d1mens1ons of the box

LS

Algebra’1 . SR
ChapterBAssesment Bbok .' ‘
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